C
—
N T T 1T Tﬂlﬁm _____E__"____f °
_\ i I
™ . -
L L o
|
|
| H
——
;]
mE B A B C D E F G H | J
1 TSA-4-01T T-4-R1/8 145 71 60| ¢42| 20| 185| 11.0| R1/8 M8x0.75 | ¢5.0
2 TSA-6-01T T-6-R1/8 14.5 7| 60| ¢6.2| ¢40| 185| 11.0| R1/8 MT10x1 5.0
3 TSA-6-02T T-6-R1/4 17.0 71 60| ¢62| 40| 220| 120| R1/4 M10x1 $6.0
4 TSA-8-01T T-8-R1/8 17.0 71 70 | 82| ¢60| 21.0| 11.0| R1/8 M12x1 5.0
5 TSA-8-02T T-8-R1/4 17.0 71 70 | 82| ¢60| 220| 120| R1/4 M12x1 6.0
6 TSA-10-02T T-10-R1/4 20.0 71 90 |¢102] ¢75| 25.0| 120| R1/4 M15x1 6.0
7 TSA-10-03T T-10-R3/8 20.0 7| 90 |¢102 ¢75| 250| 130| R3/8 M15x1 8.0
8 TSA-12-03T T-12-R3/8 20.0 71 90 |¢122] ¢80| 250| 130| R3/8 M17x1 8.0
%8 2008.3.5 |®® % 1L Trusco SRR SH (*E o vess | % TSA4-01T~12-03T




